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PAGE 584 GHWH#13 Due Friday. Reschedule
T 117 18 T 57 before Friday if you're not going to
l)g, 5 )g= 6 be here and get Friday's note

sheet. Otherwise you will take the
quiz Monday when you return.

3 27 5w 30)0.7 After checking hw, try the warmup
) 373 in our notes.
33) 37 Ix Assignment sheet is a day off.
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Trig Equations using the quadratic formula:
Solve for x between [0, 2m): _J
2tan2x -1 =-tanx ‘) =
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A=y | T K= e 36
T X=82 | g o et = 3.6052
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2. 2co0s%0 =5cpso + 1
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3. 3s5in2x = 3 sinx+2
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4, csc2K - boscx +4=0
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